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Direct proportion

As one thing increases, the
other thing also increases.
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Inverse proportion
As one thing increases, the
other thing decreases.
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Use the rays to enlarge the

pentagon by scale factor —2 Sk S

from the point. Fes
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The graph shows the cost of renting a Lo
cement mixer for a given number of days. ¢4,

What is the y-intercept of the graph? £300

What is the gradient of the graph? 7 zzgg
What does this tell you about the Olek

relationship between the cost and £100
number of days? £50

Is this relationship directly proportional? =~ *%6 723456789 0
Number of days
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A tram travels at a constant speed for 2.5 hours.
In this time, the tram travels 125 miles.

Use the bar model to help you work out the speed that the tram

travelled at. 125 miles
L
0

25 hours
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Rectangle A has been enlarged by scale factor 2 from P.
Tommy and Whitney compare their methods.
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Which method do you prefer?
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